



Refined Berezin number inequalities via superquadratic and convex functions

Fengsheng Chien^a, Mojtaba Bakherad^b, Mohammad W. Alomari^c

^aSchool of Finance and Accounting, Fuzhou University of International Studies and Trade, Fuzhou 352020, China,
and Faculty of Business, City university of Macau, Macau 999078, China

^bDepartment of Mathematics, Faculty of Mathematics, University of Sistan and Baluchestan, Zahedan, Iran

^cDepartment of Mathematics, Faculty of Science and Information Technology, Irbid National University, Irbid, Jordan

Abstract. In this paper, we generalize and refine some Berezin number inequalities for Hilbert space operators. Namely, we refine the Hermite-Hadamard inequality and some other recent results by using the concept of superquadraticity and convexity. Then we extend these inequalities for the Berezin number. Among other inequalities, it is shown that if $S, T \in \mathcal{L}(\mathcal{H}(\Omega))$ such that $\mathbf{ber}(T) \leq \mathbf{ber}(S)$ and f is a non-negative superquadratic function, then

$$f(\mathbf{ber}(T)) \leq \mathbf{ber}(f(|S|)) - \ell_{\mathbf{ber}}(f(|S| - \mathbf{ber}(T))).$$

1. Introduction and preliminaries

Let \mathcal{H} be a complex Hilbert space with an inner product $\langle \cdot, \cdot \rangle$ and the corresponding norm $\| \cdot \|$. Let $\mathcal{L}(\mathcal{H})$ be the C^* -algebra of all bounded linear operators from \mathcal{H} into itself, with the identity $I_{\mathcal{H}}$. An operator $T \in \mathcal{L}(\mathcal{H})$ is called positive if $\langle Tx, x \rangle \geq 0$ for all $x \in \mathcal{H}$, and we then write $T \geq 0$. A linear map $\Phi : \mathcal{L}(\mathcal{H}) \rightarrow \mathcal{L}(\mathcal{H})$ positive linear map, is positive if $\Phi(T) \geq 0$ whenever $T \geq 0$. It is said to be normalized if $\Phi(I_{\mathcal{H}}) = I_{\mathcal{H}}$. For $S, T \in \mathcal{L}(\mathcal{H})$ assume that $S \oplus T$ is the operator matrix $\begin{pmatrix} S & 0 \\ 0 & T \end{pmatrix}$ on $\mathcal{L}(\mathcal{H} \oplus \mathcal{H})$.

A functional Hilbert space is a Hilbert space $\mathcal{H} = \mathcal{H}(\Omega)$ of complex-valued functions on a (non-empty) set $\Omega \subset \mathbb{C}$, which has the property that point evaluations are continuous, i.e., for each $\lambda \in \Omega$ the map $f \mapsto f(\lambda)$ is a continuous (linear) functional on \mathcal{H} . Then the Riesz representation theorem ensures that for each $\lambda \in \Omega$ there is a unique element k_{λ} of \mathcal{H} such that $f(\lambda) = \langle f, k_{\lambda} \rangle$ for all $f \in \mathcal{H}$. The collection $\{k_{\lambda} : \lambda \in \Omega\}$ is called the reproducing kernel of \mathcal{H} . If $\{e_n\}$ is an orthonormal basis for a functional Hilbert space \mathcal{H} , then the reproducing kernel of \mathcal{H} is given by $k_{\lambda}(z) = \sum_n \overline{e_n(\lambda)} e_n(z)$. For $\lambda \in \Omega$, let $\hat{k}_{\lambda} = \frac{k_{\lambda}}{\|k_{\lambda}\|}$ be the

2020 Mathematics Subject Classification. Primary 47A63; Secondary 15A60.

Keywords. Berezin number; Berezin symbol; Positive operator; Young inequality; Hölder-McCarthy's inequality; Ando's inequality.

Received: 27 November 2020; Revised: 19 January 2021; Accepted: 25 February 2022

Communicated by Fuad Kittaneh

Corresponding author: Mojtaba Bakherad

We are grateful the editor and anonymous reviewers for their insightful comments and suggestions. The first author(Fengsheng Chien) was supported by the Fuzhou University of International Studies and Trade (Grant numbers: FWKQJ201902).

Email addresses: jianfengsheng@fzfu.edu.cn (Fengsheng Chien), mjtaba.bakherad@yahoo.com (Mojtaba Bakherad), mwomath@gmail.com (Mohammad W. Alomari)

normalized reproducing kernel of \mathcal{H} . For a bounded linear operator T on \mathcal{H} , the function \widetilde{T} defined on Ω by $\widetilde{T}(\lambda) = \langle T\hat{k}_\lambda, \hat{k}_\lambda \rangle$, is the Berezin transform of T , which was introduced by Berezin [7, 8]. The Berezin set and the Berezin number of the operator T are defined by

$$\mathbf{Ber}(T) = \{\widetilde{T}(\lambda) : \lambda \in \Omega\} \quad \text{and} \quad \mathbf{ber}(T) = \sup\{|\widetilde{T}(\lambda)| : \lambda \in \Omega\},$$

respectively. For an operator $T \in \mathcal{L}(\mathcal{H}(\Omega))$ we define

$$\|T\|_{\mathbf{ber}} = \sup\{|\langle T\hat{k}_{\lambda_1}, \hat{k}_{\lambda_2} \rangle| : \lambda_1, \lambda_2 \in \Omega\} \quad \text{and} \quad \ell_{\mathbf{ber}}(T) = \inf\{|\langle T\hat{k}_\lambda, \hat{k}_\lambda \rangle| : \lambda \in \Omega\}.$$

Clearly, the Berezin symbol \widetilde{T} is a bounded function on Ω whose values lie in the numerical range of the operator T , and hence

$$\mathbf{Ber}(T) \subseteq W(T) \text{ and } \mathbf{ber}(T) \leq w(T).$$

The Berezin number of operators S and T satisfies the following properties (see [2–5, 10, 13, 27] and the references therein):

- (i) $\mathbf{ber}(I_{\mathcal{H}}) = 1$;
- (ii) If $T \in \mathcal{L}(\mathcal{H}(\Omega))$ is selfadjoint, then $\widetilde{T}(\lambda) \in \mathbb{R}$;
- (iii) If $T \in \mathcal{L}(\mathcal{H}(\Omega))$ is positive, then $\widetilde{T}(\lambda) \geq 0$;
- (iv) $\mathbf{ber}(\beta T) = |\beta| \mathbf{ber}(T)$ for all $\beta \in \mathbb{C}$;
- (v) $\mathbf{ber}(T + S) \leq \mathbf{ber}(T) + \mathbf{ber}(S)$.

The Berezin symbol has been studied in detail for Toeplitz and Hankel operators on Hardy and Bergman spaces. A nice property of the Berezin symbol is mentioned next. If $\widetilde{S}(\lambda) = \widetilde{T}(\lambda)$ for all $\lambda \in \Omega$, then $S = T$. Therefore, the Berezin symbol uniquely determines the operator. Some excellent results about the Berezin number were found in [11, 12, 16–18, 25, 26] very recently.

Moreover, if $T \in \mathcal{L}(\mathcal{H}(\Omega))$, then

$$|\langle T\hat{k}_\lambda, \hat{k}_\mu \rangle|^2 \leq \langle |T|^{2\nu} \hat{k}_\lambda, \hat{k}_\lambda \rangle \langle |T^*|^{2(1-\nu)} \hat{k}_\mu, \hat{k}_\mu \rangle \tag{1}$$

for all $\hat{k}_\lambda, \hat{k}_\mu \in \mathcal{H}(\Omega)$ and $\nu \in [0, 1]$; see [19].

A function $f : [0, \infty) \rightarrow \mathcal{R}$ is called superquadratic provided that for all $x \geq 0$ there exists a constant $C_x \in \mathcal{R}$ such that

$$f(t) \geq f(x) + C_x(t - x) + f(|t - x|) \tag{2}$$

for all $t \geq 0$. We say that f is subquadratic if $-f$ is superquadratic. Thus, for a superquadratic function we require that f lie above its tangent line plus a translation of f itself [1]. Moreover, the following results hold for superquadratic function.

Lemma 1.1. [1] *Let f be a differentiable superquadratic function and $f(0) = f'(0) = 0$, then $C_x = f'(x)$ for all $x \geq 0$. Also, if f is differentiable superquadratic such that $f(x) \geq 0$ ($x \geq 0$), then f is convex, $f(0) = f'(0) = 0$ and if C_s in (2) is non-negative.*

Remark 1.2. *A superquadratic function looks to be stronger than convex function itself but if f takes negative values then it may be considered as a weaker function. If f is superquadratic and non-negative, then f is convex and increasing. Also, if f' is convex and $f(0) = f'(0) = 0$, then f is superquadratic. The converse is not true. For more information about see [1] and references therein.*

A real valued continuous function $f(t)$ on $[0, \infty)$ is superquadratic if and only if

$$f(\alpha a + (1 - \alpha)b) \leq \alpha [f(a) - f((1 - \alpha)|a - b|)] + (1 - \alpha) [f(b) - f(\alpha|a - b|)] \tag{3}$$

holds for all $\alpha \in [0, 1]$, and for all $a, b \in [0, \infty)$, see [1].

The Hermite-Hadamard inequality involving convex function asserts that

$$f\left(\frac{a+b}{2}\right) \leq \int_0^1 f((1-t)a+tb) dt \leq \frac{f(a)+f(b)}{2}, \tag{4}$$

where $f : J \rightarrow \mathbb{R}$ is a convex function on the interval J and $a, b \in J$. We have the following version of the Hermite-Hadamard inequality for superquadratic functions.

Theorem 1.3. [6] Let $f : [0, \infty) \rightarrow \mathcal{R}$ be an integrable superquadratic function and $0 \leq a \leq b$. Then

$$\begin{aligned} & f\left(\frac{a+b}{2}\right) + \frac{1}{b-a} \int_a^b f\left(\left|t - \frac{a+b}{2}\right|\right) dt \\ & \leq \int_0^1 f(ta + (1-t)b) dt \\ & \leq \frac{f(a)+f(b)}{2} - \frac{1}{(b-a)^2} \int_a^b [(b-a)f(t-a) + (t-a)f(b-t)] dt. \end{aligned} \tag{5}$$

We note that, in the left hand side of (5) we have

$$\begin{aligned} \frac{1}{b-a} \int_a^b f\left(\left|t - \frac{a+b}{2}\right|\right) dt &= \int_0^1 f\left(\left|ta + (1-t)b - \frac{a+b}{2}\right|\right) dt \\ &= \int_0^1 f\left(\left|t - \frac{1}{2}\right||a-b|\right) dt. \end{aligned} \tag{6}$$

For recent results concerning supequadraticity the reader may refer to the comprehensive book [23].

Recently, the authors [21] and [22] proved the following operator version of Jensen’s inequality for superquadratic functions.

Theorem 1.4. Let $T \in \mathcal{L}(\mathcal{H}(\Omega))$ be a positive operator and $\hat{k}_\lambda \in \mathcal{H}(\Omega)$. If $f : [0, \infty) \rightarrow \mathcal{R}$ is superquadratic and $\Phi : \mathcal{L}(\mathcal{H}(\Omega)) \rightarrow \mathcal{L}(\mathcal{H}(\Omega))$ is a normalized positive linear map, then

$$\langle f(T)\hat{k}_\lambda, \hat{k}_\lambda \rangle \geq f(\langle T\hat{k}_\lambda, \hat{k}_\lambda \rangle) + \left\langle f\left(\left|T - \langle T\hat{k}_\lambda, \hat{k}_\lambda \rangle I_{\mathcal{H}}\right|\right)\hat{k}_\lambda, \hat{k}_\lambda \right\rangle. \tag{7}$$

Moreover, we have

$$\langle \Phi(f(T))\hat{k}_\lambda, \hat{k}_\lambda \rangle \geq f(\langle \Phi(T)\hat{k}_\lambda, \hat{k}_\lambda \rangle) + \left\langle \Phi\left(f\left(\left|T - \langle \Phi(T)\hat{k}_\lambda, \hat{k}_\lambda \rangle I_{\mathcal{H}}\right|\right)\right)\hat{k}_\lambda, \hat{k}_\lambda \right\rangle. \tag{8}$$

In this paper, we get some upper bounds for the Berezin number of the $f(\mathbf{ber}(T))$ and $f(\mathbf{ber}(S^*T))$ on reproducing kernel Hilbert spaces (RKHS), where $S, T \in \mathcal{L}(\mathcal{H}(\Omega))$ is arbitrary and f is a superquadratic increasing, by using some ideas from [22, 24]. We also present some inequalities involving positive linear maps. In the last section, we show a refinement of the Hermite-Hadamard inequality for convex function, and then assert it for the Berezin number.

2. Berezin number inequalities via superquadratic functions

In the first section, we show some Berezin number inequalities involving superquadratic functions. We demonstrate one of our results.

Theorem 2.1. Let $T \in \mathcal{L}(\mathcal{H}(\Omega))$ and $f : [0, \infty) \rightarrow \mathcal{R}$ be increasing superquadratic on $[0, \infty)$. Then

$$\begin{aligned}
 f(\mathbf{ber}(T)) &\leq \mathbf{ber} \left(\int_0^1 f(t|T| + (1-t)|T^*|) dt \right) \\
 &\quad - \inf_{\lambda \in \Omega} \left\langle \int_0^1 f \left(\left| [t|T| + (1-t)|T^*|] - \langle [t|T| + (1-t)|T^*|] \hat{k}_\lambda, \hat{k}_\lambda \rangle 1_{\mathcal{H}} \right| \right) dt \hat{k}_\lambda, \hat{k}_\lambda \right\rangle \\
 &\quad - \inf_{\lambda \in \Omega} \int_0^1 f \left(\left| \langle (|T| - |T^*|) \hat{k}_\lambda, \hat{k}_\lambda \rangle \right| \left| t - \frac{1}{2} \right| \right) dt.
 \end{aligned} \tag{9}$$

Proof. Let \hat{k}_λ be the normalized reproducing kernel of $\mathcal{H}(\Omega)$. It follows from f is increasing on $[0, \infty)$, inequality (1) for $\nu = \frac{1}{2}$ and the arithmetic-geometric inequality(AM-GM) that

$$\begin{aligned}
 f \left(\left| \langle T \hat{k}_\lambda, \hat{k}_\lambda \rangle \right| \right) &\leq f \left(\sqrt{\langle |T| \hat{k}_\lambda, \hat{k}_\lambda \rangle \langle |T^*| \hat{k}_\lambda, \hat{k}_\lambda \rangle} \right) \\
 &\leq f \left(\frac{\langle |T| \hat{k}_\lambda, \hat{k}_\lambda \rangle + \langle |T^*| \hat{k}_\lambda, \hat{k}_\lambda \rangle}{2} \right) \quad (\text{by AM-GM}) \\
 &\leq \int_0^1 f \left(t \langle |T| \hat{k}_\lambda, \hat{k}_\lambda \rangle + (1-t) \langle |T^*| \hat{k}_\lambda, \hat{k}_\lambda \rangle \right) dt \\
 &\quad - \int_0^1 f \left(\left| \langle (|T| - |T^*|) \hat{k}_\lambda, \hat{k}_\lambda \rangle \right| \left| t - \frac{1}{2} \right| \right) dt. \quad (\text{by (5)})
 \end{aligned} \tag{10}$$

Now, since f is superquadratic we have

$$\begin{aligned}
 &f \left(t \langle |T| \hat{k}_\lambda, \hat{k}_\lambda \rangle + (1-t) \langle |T^*| \hat{k}_\lambda, \hat{k}_\lambda \rangle \right) \\
 &= f \left(\langle [t|T| + (1-t)|T^*|] \hat{k}_\lambda, \hat{k}_\lambda \rangle \right) \\
 &\leq \langle f(t|T| + (1-t)|T^*|) \hat{k}_\lambda, \hat{k}_\lambda \rangle \\
 &\quad - \left\langle f \left(\left| [t|T| + (1-t)|T^*|] - \langle [t|T| + (1-t)|T^*|] \hat{k}_\lambda, \hat{k}_\lambda \rangle I_{\mathcal{H}} \right| \right) \hat{k}_\lambda, \hat{k}_\lambda \right\rangle \quad (\text{by (7)}).
 \end{aligned}$$

Integrating the previous inequalities over t on $[0, 1]$, we get

$$\begin{aligned}
 &\int_0^1 f \left(t \langle |T| \hat{k}_\lambda, \hat{k}_\lambda \rangle + (1-t) \langle |T^*| \hat{k}_\lambda, \hat{k}_\lambda \rangle \right) dt \\
 &\leq \left\langle \int_0^1 f(t|T| + (1-t)|T^*|) dt \hat{k}_\lambda, \hat{k}_\lambda \right\rangle \\
 &\quad - \left\langle \int_0^1 f \left(\left| [t|T| + (1-t)|T^*|] - \langle [t|T| + (1-t)|T^*|] \hat{k}_\lambda, \hat{k}_\lambda \rangle I_{\mathcal{H}} \right| \right) dt \hat{k}_\lambda, \hat{k}_\lambda \right\rangle.
 \end{aligned} \tag{11}$$

Combining (10) and (11), we get

$$\begin{aligned}
 f\left(\left|\langle T\hat{k}_\lambda, \hat{k}_\lambda \rangle\right|\right) &\leq \int_0^1 f\left(t\langle |T|\hat{k}_\lambda, \hat{k}_\lambda \rangle + (1-t)\langle |T^*|\hat{k}_\lambda, \hat{k}_\lambda \rangle\right) dt \\
 &\quad - \int_0^1 f\left(\left|\langle (|T| - |T^*|)\hat{k}_\lambda, \hat{k}_\lambda \rangle\right|\left|t - \frac{1}{2}\right|\right) dt \\
 &\leq \left\langle \int_0^1 f\left(t|T| + (1-t)|T^*|\right) dt \hat{k}_\lambda, \hat{k}_\lambda \right\rangle \\
 &\quad - \left\langle \int_0^1 f\left(\left|[t|T| + (1-t)|T^*|] - \langle [t|T| + (1-t)|T^*|] \hat{k}_\lambda, \hat{k}_\lambda \rangle I_{\mathcal{H}}\right|\right) dt \hat{k}_\lambda, \hat{k}_\lambda \right\rangle \\
 &\quad - \int_0^1 f\left(\left|\langle (|T| - |T^*|)\hat{k}_\lambda, \hat{k}_\lambda \rangle\right|\left|t - \frac{1}{2}\right|\right) dt.
 \end{aligned}$$

If we get supremum over $\hat{k}_\lambda \in \mathcal{H}(\Omega)$ we reach our result. \square

Remark 2.2. Note, if we assume that f is convex in Theorem 2.1, then by using inequality (10) and the Hermite-Hadamard inequality we can deduce that

$$f(\mathbf{ber}(T)) \leq \mathbf{ber}\left(\int_0^1 f\left(t|T| + (1-t)|T^*|\right) dt\right). \tag{12}$$

Now, if we suppose that superquadratic functions are non-negative, then our result is a better upper bound for the Berezin inequality, because in this case in the right side of inequality (9) the values

$$\inf_{\lambda \in \Omega} \left\langle \int_0^1 f\left(\left|[t|T| + (1-t)|T^*|] - \langle [t|T| + (1-t)|T^*|] \hat{k}_\lambda, \hat{k}_\lambda \rangle 1_{\mathcal{H}}\right|\right) dt \hat{k}_\lambda, \hat{k}_\lambda \right\rangle$$

and

$$\inf_{\lambda \in \Omega} \int_0^1 f\left(\left|\langle (|T| - |T^*|)\hat{k}_\lambda, \hat{k}_\lambda \rangle\right|\left|t - \frac{1}{2}\right|\right) dt$$

are non-negative.

The function $f(x) = x^r$ ($r \geq 2$) is an increasing(non-negative) superquadratic function, so we have the next result; see [1].

Corollary 2.3. Let $T \in \mathcal{L}(\mathcal{H}(\Omega))$ and $r \geq 2$. Then

$$\begin{aligned}
 &\mathbf{ber}^r(T) \\
 &\leq \mathbf{ber}\left(\int_0^1 (t|T| + (1-t)|T^*|)^r dt\right) \\
 &\quad - \inf_{\lambda \in \Omega} \left\langle \int_0^1 \left(\left|[t|T| + (1-t)|T^*|] - \langle [t|T| + (1-t)|T^*|] \hat{k}_\lambda, \hat{k}_\lambda \rangle I_{\mathcal{H}}\right|\right)^r dt \hat{k}_\lambda, \hat{k}_\lambda \right\rangle \\
 &\quad - \inf_{\lambda \in \Omega} \int_0^1 \left(\left|\langle (|T| - |T^*|)\hat{k}_\lambda, \hat{k}_\lambda \rangle\right|\left|t - \frac{1}{2}\right|\right)^r dt
 \end{aligned} \tag{13}$$

Theorem 2.4. Let $S, T \in \mathcal{L}(\mathcal{H}(\Omega))$. If $f : [0, \infty) \rightarrow \mathcal{R}$ is increasing superquadratic, then

$$\begin{aligned}
 & f(\mathbf{ber}(S^*T)) \\
 & \leq \mathbf{ber}\left(\int_0^1 f(t|T|^2 + (1-t)|S|^2) dt\right) \\
 & \quad - \inf_{\lambda \in \Omega} \int_0^1 f\left(\left|[t|T|^2 + (1-t)|S|^2] \hat{k}_\lambda, \hat{k}_\lambda\right\rangle_{I_{\mathcal{H}}}\right) dt \\
 & \quad - \inf_{\lambda \in \Omega} \int_0^1 f\left(\left|\langle (|T|^2 - |S|^2) \hat{k}_\lambda, \hat{k}_\lambda \rangle\right| \left|t - \frac{1}{2}\right|\right) dt.
 \end{aligned} \tag{14}$$

Proof. For an increasing superquadratic function $f : [0, \infty) \rightarrow \mathcal{R}$ we have

$$\begin{aligned}
 f\left(\left|\langle S^*T \hat{k}_\lambda, \hat{k}_\lambda \rangle\right|\right) &= f\left(\left|\langle T \hat{k}_\lambda, S \hat{k}_\lambda \rangle\right|\right) \\
 &\leq f\left(\|T \hat{k}_\lambda\| \|S \hat{k}_\lambda\|\right) \quad (\text{by the Cauchy-Schwarz inequality}) \\
 &= f\left(\sqrt{\langle |T|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle \langle |S|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle}\right) \\
 &\leq f\left(\frac{\langle |T|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle + \langle |S|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle}{2}\right) \quad (\text{by AM-GM}) \\
 &\leq \int_0^1 f\left(t \langle |T|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle + (1-t) \langle |S|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle\right) dt \\
 &\quad - \int_0^1 f\left(\left|\langle (|T|^2 - |S|^2) \hat{k}_\lambda, \hat{k}_\lambda \rangle\right| \left|t - \frac{1}{2}\right|\right) dt \quad (\text{by (5)}),
 \end{aligned} \tag{15}$$

where $S, T \in \mathcal{L}(\mathcal{H}(\Omega))$ and $\lambda \in \Omega$. Now, by a similar argument as used in the proof of Theorem 2.1 we have the result. \square

If we put $S = T$, we have the next result.

Corollary 2.5. Let $T \in \mathcal{L}(\mathcal{H}(\Omega))$. If $f : [0, \infty) \rightarrow \mathcal{R}$ is increasing superquadratic, then

$$\begin{aligned}
 & f(\mathbf{ber}(|T|^2)) \\
 & \leq \mathbf{ber}\left(\int_0^1 f(t|T|^2 + (1-t)|T^*|^2) dt\right) \\
 & \quad - \inf_{\lambda \in \Omega} \int_0^1 f\left(\left|[t|T|^2 + (1-t)|T^*|^2] \hat{k}_\lambda, \hat{k}_\lambda\right\rangle_{I_{\mathcal{H}}}\right) dt \\
 & \quad - \inf_{\lambda \in \Omega} \int_0^1 f\left(\left|\langle (|T|^2 - |T^*|^2) \hat{k}_\lambda, \hat{k}_\lambda \rangle\right| \left|t - \frac{1}{2}\right|\right) dt
 \end{aligned} \tag{16}$$

In the next theorem we investigate an upper bound for the Berezin number involving a normalized positive linear map.

Theorem 2.6. Let $\Phi : \mathcal{L}(\mathcal{H}(\Omega)) \rightarrow \mathcal{L}(\mathcal{H}(\Omega))$ be a normalized positive linear map and $T \in \mathcal{L}(\mathcal{H}(\Omega))$. If $f :$

$[0, \infty) \rightarrow \mathcal{R}$ is increasing superquadratic, then

$$\begin{aligned} & f(\mathbf{ber}^2(\Phi(T))) \\ & \leq \sup_{\lambda \in \Omega} \left(\int_0^1 f \left(\left\| \left(\Phi(t|T|^2 + (1-t)|T^*|^2) \right)^{\frac{1}{2}} \hat{k}_\lambda \right\|^2 \right) dt \right) \\ & \quad - \inf_{\lambda \in \Omega} \left(\int_0^1 f \left(\left| \langle (\Phi(T^*T) - \Phi(TT^*)) \hat{k}_\lambda, \hat{k}_\lambda \rangle \right| \left| t - \frac{1}{2} \right| \right) dt \right) \\ & \leq \mathbf{ber} \left(\Phi \left(\int_0^1 f(t|T|^2 + (1-t)|T^*|^2) dt \right) \right) \\ & \quad - \inf_{\lambda \in \Omega} \left(\left\langle \Phi \left(\int_0^1 f \left((|t|T|^2 + (1-t)|T^*|^2) - \langle \Phi(t|T|^2 + (1-t)|T^*|^2) \hat{k}_\lambda, \hat{k}_\lambda \rangle I_{\mathcal{H}} \right) dt \hat{k}_\lambda, \hat{k}_\lambda \right) \right\rangle \right) \\ & \quad - \inf_{\lambda \in \Omega} \left(\int_0^1 f \left(\left| \langle (\Phi(T^*T) - \Phi(TT^*)) \hat{k}_\lambda, \hat{k}_\lambda \rangle \right| \left| t - \frac{1}{2} \right| \right) dt \right). \end{aligned}$$

Proof. If $\hat{k}_\lambda \in \mathcal{H}(\Omega)$, then we have

$$\begin{aligned} f(|\langle \Phi(T) \hat{k}_\lambda, \hat{k}_\lambda \rangle|^2) & \leq f \left(\frac{\langle \Phi(T^*T) \hat{k}_\lambda, \hat{k}_\lambda \rangle + \langle \Phi(TT^*) \hat{k}_\lambda, \hat{k}_\lambda \rangle}{2} \right) \quad (\text{by [24, Theorem 2.2]}) \\ & \leq \int_0^1 f(t \langle \Phi(T^*T) \hat{k}_\lambda, \hat{k}_\lambda \rangle + (1-t) \langle \Phi(TT^*) \hat{k}_\lambda, \hat{k}_\lambda \rangle) dt \\ & \quad - \int_0^1 f \left(\left| \langle (\Phi(T^*T) - \Phi(TT^*)) \hat{k}_\lambda, \hat{k}_\lambda \rangle \right| \left| t - \frac{1}{2} \right| \right) dt \\ & \quad \quad \quad (\text{by (3)}) \\ & = \int_0^1 f(\langle (t\Phi(T^*T) + (1-t)\Phi(TT^*)) \hat{k}_\lambda, \hat{k}_\lambda \rangle) dt \\ & \quad - \int_0^1 f \left(\left| \langle (\Phi(T^*T) - \Phi(TT^*)) \hat{k}_\lambda, \hat{k}_\lambda \rangle \right| \left| t - \frac{1}{2} \right| \right) dt \\ & = \int_0^1 f(\langle \Phi(t(T^*T) + (1-t)(TT^*)) \hat{k}_\lambda, \hat{k}_\lambda \rangle) dt \\ & \quad - \int_0^1 f \left(\left| \langle (\Phi(T^*T) - \Phi(TT^*)) \hat{k}_\lambda, \hat{k}_\lambda \rangle \right| \left| t - \frac{1}{2} \right| \right) dt \tag{17} \end{aligned}$$

Hence

$$\begin{aligned} f(|\langle \Phi(T) \hat{k}_\lambda, \hat{k}_\lambda \rangle|^2) & \leq \int_0^1 f(\langle \Phi(t(T^*T) + (1-t)(TT^*)) \hat{k}_\lambda, \hat{k}_\lambda \rangle) dt \\ & \quad - \int_0^1 f \left(\left| \langle (\Phi(T^*T) - \Phi(TT^*)) \hat{k}_\lambda, \hat{k}_\lambda \rangle \right| \left| t - \frac{1}{2} \right| \right) dt \\ & = \int_0^1 f \left(\left(\left(\Phi(t|T|^2 + (1-t)|T^*|^2) \right)^{\frac{1}{2}} \hat{k}_\lambda, \left(\Phi(t|T|^2 + (1-t)|T^*|^2) \right)^{\frac{1}{2}} \hat{k}_\lambda \right) \right) dt \\ & \quad - \int_0^1 f \left(\left| \langle (\Phi(T^*T) - \Phi(TT^*)) \hat{k}_\lambda, \hat{k}_\lambda \rangle \right| \left| t - \frac{1}{2} \right| \right) dt \end{aligned}$$

$$\begin{aligned}
 &= \int_0^1 f \left(\left\| \left(\Phi(t|T|^2 + (1-t)|T^*|^2) \right)^{\frac{1}{2}} \hat{k}_\lambda \right\|^2 \right) dt \\
 &\quad - \int_0^1 f \left(\left| \langle (\Phi(T^*T) - \Phi(TT^*)) \hat{k}_\lambda, \hat{k}_\lambda \rangle \right| \left| t - \frac{1}{2} \right| \right) dt.
 \end{aligned} \tag{18}$$

Moreover, since f is superquadratic we get,

$$\begin{aligned}
 &f \left(\left\| \left(\Phi(t|T|^2 + (1-t)|T^*|^2) \right)^{\frac{1}{2}} \hat{k}_\lambda \right\|^2 \right) \\
 &= f(\langle \Phi(tT^*T + (1-t)TT^*) \hat{k}_\lambda, \hat{k}_\lambda \rangle) \\
 &\leq \langle \Phi(f(t|T|^2 + (1-t)|T^*|^2)) \hat{k}_\lambda, \hat{k}_\lambda \rangle \\
 &\quad - \langle \Phi(f(|t|T|^2 + (1-t)|T^*|^2) - \langle \Phi(t|T|^2 + (1-t)|T^*|^2) \hat{k}_\lambda, \hat{k}_\lambda \rangle_{I_{\mathcal{H}}}) \rangle \hat{k}_\lambda, \hat{k}_\lambda \rangle \quad (\text{by (8)}).
 \end{aligned}$$

Integrating on the previous inequality over t on $[0, 1]$, we have

$$\begin{aligned}
 &\int_0^1 f \left(\left\| \left(\Phi(t|T|^2 + (1-t)|T^*|^2) \right)^{\frac{1}{2}} \hat{k}_\lambda \right\|^2 \right) dt \\
 &= \int_0^1 f(\langle \Phi(t|T|^2 + (1-t)|T^*|^2) \hat{k}_\lambda, \hat{k}_\lambda \rangle) dt \\
 &\leq \int_0^1 \langle \Phi(f(t|T|^2 + (1-t)|T^*|^2)) \hat{k}_\lambda, \hat{k}_\lambda \rangle \\
 &\quad - \int_0^1 \langle \Phi(f(|t|T|^2 + (1-t)|T^*|^2) - \langle \Phi(t|T|^2 + (1-t)|T^*|^2) \hat{k}_\lambda, \hat{k}_\lambda \rangle_{I_{\mathcal{H}}}) \rangle \hat{k}_\lambda, \hat{k}_\lambda \rangle \\
 &= \left\langle \Phi \left(\int_0^1 f(t|T|^2 + (1-t)|T^*|^2) dt \right) \hat{k}_\lambda, \hat{k}_\lambda \right\rangle \\
 &\quad - \left\langle \Phi \left(\int_0^1 f \left(|t|T|^2 + (1-t)|T^*|^2 - \langle \Phi(t|T|^2 + (1-t)|T^*|^2) \hat{k}_\lambda, \hat{k}_\lambda \rangle_{I_{\mathcal{H}}} \right) dt \right) \hat{k}_\lambda, \hat{k}_\lambda \right\rangle \\
 &\quad \quad \quad (\text{by the linearity of the inner product and } \Phi),
 \end{aligned} \tag{19}$$

whence by (18) and (19) we get

$$\begin{aligned}
 &f(|\langle \Phi(T) \hat{k}_\lambda, \hat{k}_\lambda \rangle|^2) \\
 &\leq \int_0^1 f \left(\left\langle \left(\Phi(t|T|^2 + (1-t)|T^*|^2) \right)^{\frac{1}{2}} \hat{k}_\lambda, \left(\Phi(t|T|^2 + (1-t)|T^*|^2) \right)^{\frac{1}{2}} \hat{k}_\lambda \right\rangle \right) dt \\
 &\quad - \int_0^1 f \left(\left| \langle (\Phi(T^*T) - \Phi(TT^*)) \hat{k}_\lambda, \hat{k}_\lambda \rangle \right| \left| t - \frac{1}{2} \right| \right) dt \\
 &= \int_0^1 f \left(\left\| \left(\Phi(t|T|^2 + (1-t)|T^*|^2) \right)^{\frac{1}{2}} \hat{k}_\lambda \right\|^2 \right) dt \\
 &\quad - \int_0^1 f \left(\left| \langle (\Phi(T^*T) - \Phi(TT^*)) \hat{k}_\lambda, \hat{k}_\lambda \rangle \right| \left| t - \frac{1}{2} \right| \right) dt \\
 &\leq \left\langle \Phi \left(\int_0^1 f(t|T|^2 + (1-t)|T^*|^2) dt \right) \hat{k}_\lambda, \hat{k}_\lambda \right\rangle \\
 &\quad - \left\langle \Phi \left(\int_0^1 f \left(|t|T|^2 + (1-t)|T^*|^2 - \langle \Phi(t|T|^2 + (1-t)|T^*|^2) \hat{k}_\lambda, \hat{k}_\lambda \rangle_{I_{\mathcal{H}}} \right) dt \right) \hat{k}_\lambda, \hat{k}_\lambda \right\rangle \\
 &\quad - \int_0^1 f \left(\left| \langle (\Phi(T^*T) - \Phi(TT^*)) \hat{k}_\lambda, \hat{k}_\lambda \rangle \right| \left| t - \frac{1}{2} \right| \right) dt.
 \end{aligned}$$

Now, we get supremum over $\hat{k}_\lambda \in \mathcal{H}(\Omega)$ we reach our results. \square

Corollary 2.7. Let $T_j \in \mathcal{L}(\mathcal{H}(\Omega))$ ($1 \leq j \leq n$) and $\Phi_j : \mathcal{L}(\mathcal{H}(\Omega)) \rightarrow \mathcal{L}(\mathcal{H}(\Omega))$ ($1 \leq j \leq n$) be normalized positive linear maps. If $f : [0, \infty) \rightarrow \mathcal{R}$ is increasing superquadratic, then

$$\begin{aligned} & f\left(\mathbf{ber}^2\left(\sum_{j=1}^n \Phi_j(T_j)\right)\right) \\ & \leq \sup_{\lambda \in \Omega} \left(\int_0^1 f\left(\left\|\left(\sum_{j=1}^n \Phi_j(t|T_j|^2 + (1-t)|T_j^*|^2)\right)^{\frac{1}{2}} \hat{k}_\lambda\right\|^2\right) dt \right) \\ & \quad - \inf_{\lambda \in \Omega} \left(\int_0^1 f\left(\left|\left\langle \left(\sum_{j=1}^n \Phi_j(T_j^* T_j - T_j T_j^*)\right) \hat{k}_\lambda, \hat{k}_\lambda \right\rangle\right| \left|t - \frac{1}{2}\right|\right) dt \right) \\ & \leq \mathbf{ber}\left(\sum_{j=1}^n \Phi_j\left(\int_0^1 f(t|T_j|^2 + (1-t)|T_j^*|^2) dt\right)\right) \\ & \quad - \inf_{\lambda \in \Omega} \left(\left\langle \sum_{j=1}^n \Phi_j\left(\int_0^1 f\left(\left|t|T_j|^2 + (1-t)|T_j^*|^2\right) - \langle \Phi(t|T|^2 + (1-t)|T^*|^2) \hat{k}_\lambda, \hat{k}_\lambda \rangle_{\mathcal{H}}\right) dt \hat{k}_\lambda, \hat{k}_\lambda \right\rangle \right) \\ & \quad - \inf_{\lambda \in \Omega} \left(\int_0^1 f\left(\left|\left\langle \left(\sum_{j=1}^n \Phi_j(T_j^* T_j - T_j T_j^*)\right) \hat{k}_\lambda, \hat{k}_\lambda \right\rangle\right| \left|t - \frac{1}{2}\right|\right) dt \right). \end{aligned}$$

Proof. Assume that the normalized positive linear map Φ on $\mathcal{L}(\mathcal{H}(\Omega) \oplus \dots \oplus \mathcal{H}(\Omega))$ by $\Phi(A) = \Phi(A_1) \oplus \dots \oplus \Phi(A_n)$, where $A = A_1 \oplus \dots \oplus A_n$ is an operator in $\mathcal{L}(\mathcal{H}(\Omega) \oplus \dots \oplus \mathcal{H}(\Omega))$. Then by applying Theorem 2.6 we get the desired inequalities. \square

The next result shows another upper bound for $f(\mathbf{ber}(S^*T))$.

Proposition 2.8. Let $S, T \in \mathcal{L}(\mathcal{H}(\Omega))$. If $f : [0, \infty) \rightarrow \mathcal{R}$ is superquadratic increasing, then

$$\begin{aligned} f(\mathbf{ber}(S^*T)) & \leq \sup_{\lambda \in \Omega} \left(\int_0^1 f\left(\left\|\left(t|T|^2 + (1-t)|S|^2\right)^{\frac{1}{2}} \hat{k}_\lambda\right\|^2\right) dt \right) \\ & \quad - \inf_{\lambda \in \Omega} \int_0^1 f\left(\left|\left\langle (|T|^2 - |S|^2) \hat{k}_\lambda, \hat{k}_\lambda \right\rangle\right| \left|t - \frac{1}{2}\right|\right) dt. \end{aligned} \tag{20}$$

Proof. Let $\hat{k}_\lambda \in \mathcal{H}(\Omega)$. Since f is increasing on $[0, \infty)$, by (15) we have

$$\begin{aligned} f\left(\left|\left\langle S^*T \hat{k}_\lambda, \hat{k}_\lambda \right\rangle\right|\right) & \leq f\left(\frac{\langle |T|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle + \langle |S|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle}{2}\right) \quad (\text{by (15)}) \\ & \leq \int_0^1 f\left(t \langle |T|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle + (1-t) \langle |S|^2 \hat{k}_\lambda, \hat{k}_\lambda \rangle\right) dt \\ & \quad - \int_0^1 f\left(\left|\left\langle (|T|^2 - |S|^2) \hat{k}_\lambda, \hat{k}_\lambda \right\rangle\right| \left|t - \frac{1}{2}\right|\right) dt \quad (\text{by (5)}) \end{aligned} \tag{21}$$

$$\begin{aligned}
 &= \int_0^1 f \left(\left\langle \left((t|T|^2 + (1-t)|S|^2) \hat{k}_\lambda, \hat{k}_\lambda \right) \right\rangle \right) dt \\
 &\quad - \int_0^1 f \left(\left| \left\langle (|T|^2 - |S|^2) \hat{k}_\lambda, \hat{k}_\lambda \right\rangle \right| \left| t - \frac{1}{2} \right| \right) dt \\
 &= \int_0^1 f \left(\left\langle \left((t|T|^2 + (1-t)|S|^2)^{\frac{1}{2}} \hat{k}_\lambda, (t|T|^2 + (1-t)|S|^2)^{\frac{1}{2}} \hat{k}_\lambda \right) \right\rangle \right) dt \\
 &\quad - \int_0^1 f \left(\left| \left\langle (|T|^2 - |S|^2) \hat{k}_\lambda, \hat{k}_\lambda \right\rangle \right| \left| t - \frac{1}{2} \right| \right) dt \\
 &= \int_0^1 f \left(\left\| \left((t|T|^2 + (1-t)|S|^2)^{\frac{1}{2}} \hat{k}_\lambda \right\|^2 \right) \right) dt \\
 &\quad - \int_0^1 f \left(\left| \left\langle (|T|^2 - |S|^2) \hat{k}_\lambda, \hat{k}_\lambda \right\rangle \right| \left| t - \frac{1}{2} \right| \right) dt.
 \end{aligned}$$

Now, by taking supremum over all $\hat{k}_\lambda \in \mathcal{H}(\Omega)$, we get the desired result. \square

In the next theorem we compare the Berezin number two operators under some mild conditions.

Theorem 2.9. *If $S, T \in \mathcal{L}(\mathcal{H}(\Omega))$ such that $\mathbf{ber}(T) \leq \mathbf{ber}(|S|)$ and f is a non-negative superquadratic function, then*

$$f(\mathbf{ber}(T)) \leq \mathbf{ber}(f(|S|)) - \ell_{\mathbf{ber}}(f(|S| - \mathbf{ber}(T))).$$

In particular,

$$f(\mathbf{ber}(T)) \leq \mathbf{ber}(f(|T|)) - \ell_{\mathbf{ber}}(f(|T| - \mathbf{ber}(T))).$$

Proof. If we put $x = \mathbf{ber}(T)$ in (2), we have

$$f(t) \geq f(\mathbf{ber}(T)) + C_{\mathbf{ber}(T)}(t - \mathbf{ber}(T)) + f(|t - \mathbf{ber}(T)|)$$

By using the functional calculus for the operator $|S|$ we get

$$f(|S|) \geq f(\mathbf{ber}(T)) + C_{\mathbf{ber}(T)}(|S| - \mathbf{ber}(T)) + f(|S| - \mathbf{ber}(T)),$$

whence

$$\langle f(|S|) \hat{k}_\lambda, \hat{k}_\lambda \rangle \geq f(\mathbf{ber}(T)) + C_{\mathbf{ber}(T)}(\langle |S| \hat{k}_\lambda, \hat{k}_\lambda \rangle - \mathbf{ber}(T)) + \langle f(|S| - \mathbf{ber}(T)) \hat{k}_\lambda, \hat{k}_\lambda \rangle,$$

for $\hat{k}_\lambda \in \mathcal{H}(\Omega)$. So

$$\langle f(|S|) \hat{k}_\lambda, \hat{k}_\lambda \rangle - \langle f(|S| - \mathbf{ber}(T)) \hat{k}_\lambda, \hat{k}_\lambda \rangle \geq f(\mathbf{ber}(T)) + C_{\mathbf{ber}(T)}(\langle |S| \hat{k}_\lambda, \hat{k}_\lambda \rangle - \mathbf{ber}(T))$$

for $\hat{k}_\lambda \in \mathcal{H}(\Omega)$. We take supremum over all $\hat{k}_\lambda \in \mathcal{H}(\Omega)$, and we get

$$\begin{aligned}
 \mathbf{ber}(f(|S|)) - \ell_{\mathbf{ber}}(f(|S| - \mathbf{ber}(T))) &= \sup_{\lambda \in \Omega} \langle f(|S|) \hat{k}_\lambda, \hat{k}_\lambda \rangle - \inf_{\lambda \in \Omega} \langle f(|S| - \mathbf{ber}(T)) \hat{k}_\lambda, \hat{k}_\lambda \rangle \\
 &\geq f(\mathbf{ber}(T)) + C_{\mathbf{ber}(T)} \left(\sup_{\lambda \in \Omega} \langle |S| \hat{k}_\lambda, \hat{k}_\lambda \rangle - \mathbf{ber}(T) \right) \\
 &= f(\mathbf{ber}(T)) + C_{\mathbf{ber}(T)}(\mathbf{ber}(|S|) - \mathbf{ber}(T))
 \end{aligned}$$

Note that $C_{\mathbf{ber}(T)}(\mathbf{ber}(|S|) - \mathbf{ber}(T)) \geq 0$, then

$$\mathbf{ber}(f(|S|)) - \ell_{\mathbf{ber}}(f(|S| - \mathbf{ber}(T))) \geq f(\mathbf{ber}(T)).$$

Thus we have the first inequality. If we take $S = T$ in the first inequality, we get the second inequality. \square

Corollary 2.10. *If $T \in \mathcal{L}(\mathcal{H}(\Omega))$, then*

$$\mathbf{ber}^r(T) \leq \mathbf{ber}(|T|^r) - \ell_{\mathbf{ber}}((\|T\| - \mathbf{ber}(T))^r),$$

where $r \geq 2$.

3. Berezin number inequalities via convex functions

In this section, we establish some Berezin number inequalities involving convex functions. For this propose we need the following lemma, which deduce from [9, Theorem 4].

Lemma 3.1. *Let $f : J \rightarrow \mathcal{R}$ be a convex function on the interval J and $a, b \in J$. Then*

$$\begin{aligned} f\left(\frac{a+b}{2}\right) &\leq (1-\alpha)f\left(\frac{(1-\alpha)a+(1+\alpha)b}{2}\right) + \alpha f\left(\frac{(2-\alpha)a+\alpha b}{2}\right) \\ &\leq \int_0^1 f((1-t)a+tb) dt \end{aligned} \tag{22}$$

$$\leq \frac{1}{2} (f((1-\alpha)a+\alpha b) + (1-\alpha)f(a) + \alpha f(b)) \tag{23}$$

$$\leq \frac{f(a)+f(b)}{2}, \tag{24}$$

where $\alpha \in [0, 1]$.

Proof. By the Hermite-Hadamard inequality (4) we have

$$\begin{aligned} f\left(\frac{(1-\alpha)a+(1+\alpha)b}{2}\right) &\leq \int_0^1 f((1-t)((1-\alpha)a+\alpha b)+tb) dt \\ &\leq \frac{f((1-\alpha)a+\alpha b)+f(b)}{2} \end{aligned}$$

and

$$\begin{aligned} f\left(\frac{(2-\alpha)a+\alpha b}{2}\right) &\leq \int_0^1 f((1-t)a+t((1-\alpha)a+\alpha b)) dt \\ &\leq \frac{f(a)+f((1-\alpha)a+\alpha b)}{2}, \end{aligned}$$

where $\alpha \in [0, 1]$. Now we multiply $1-\alpha$ in the first inequalities and α in the second inequalities and use this fact (see [9, Lemma 1]):

$$(1-\alpha) \int_0^1 f((1-t)((1-\alpha)a+\alpha b)+tb) dt + \alpha \int_0^1 f((1-t)a+t((1-\alpha)a+\alpha b)) dt = \int_0^1 f((1-t)a+tb) dt,$$

we get

$$\begin{aligned} (1-\alpha)f\left(\frac{(1-\alpha)a+(1+\alpha)b}{2}\right) + \alpha f\left(\frac{(2-\alpha)a+\alpha b}{2}\right) &\leq \int_0^1 f((1-t)a+tb) dt \\ &\leq \frac{1}{2} [f((1-\alpha)a+\alpha b) + (1-\alpha)f(a) + \alpha f(b)], \end{aligned}$$

whence we have inequalities (22) and (23). Moreover

$$\begin{aligned} f\left(\frac{a+b}{2}\right) &= f\left((1-\alpha)\frac{(1-\alpha)a+(1+\alpha)b}{2} + \alpha\frac{(2-\alpha)a+\alpha b}{2}\right) \\ &\leq (1-\alpha)f\left(\frac{(1-\alpha)a+(1+\alpha)b}{2}\right) + \alpha f\left(\frac{(2-\alpha)a+\alpha b}{2}\right) \quad (\text{by the convexity}) \end{aligned}$$

and

$$\begin{aligned} \frac{1}{2}(f((1-\alpha)a+\alpha b) + (1-\alpha)f(a) + \alpha f(b)) &\leq \frac{1}{2}((1-\alpha)f(a) + \alpha f(b) + (1-\alpha)f(a) + \alpha f(b)) \\ &\quad (\text{by the convexity}) \\ &= \frac{f(a) + f(b)}{2}, \end{aligned}$$

and hence we get the desired inequalities. \square

The next result shows a refinement of inequality (12).

Theorem 3.2. Let $f : J \subseteq \mathcal{R}^+ \rightarrow \mathcal{R}$ be an increasing convex function and $T \in \mathcal{L}(\mathcal{H}(\Omega))$. Then

$$\begin{aligned} f(\mathbf{ber}(T)) &\leq \mathbf{ber}\left(\int_0^1 f(t|T| + (1-t)|T^*|)dt\right) \\ &\leq \mathbf{ber}\left(\frac{f((1-\alpha)|T| + \alpha|T^*|) + (1-\alpha)f(|T^*|) + \alpha f(|T|)}{2}\right) \\ &\leq \mathbf{ber}\left(\frac{f(|T|) + f(|T^*|)}{2}\right), \end{aligned}$$

where $\alpha \in [0, 1]$.

Proof. Let $\hat{k}_\lambda \in \mathcal{H}(\Omega)$. We have

$$\begin{aligned} f\left(\left|\left\langle T\hat{k}_\lambda, \hat{k}_\lambda \right\rangle\right|\right) &\leq f\left(\frac{\left|\left\langle |T|\hat{k}_\lambda, \hat{k}_\lambda \right\rangle\right| + \left|\left\langle |T^*|\hat{k}_\lambda, \hat{k}_\lambda \right\rangle\right|}{2}\right) \quad (\text{by (10)}) \\ &\leq \left\langle \int_0^1 f((1-t)|T| + t|T^*|)dt \hat{k}_\lambda, \hat{k}_\lambda \right\rangle \quad (\text{by (22)}) \\ &\leq \frac{1}{2} \left\langle [f((1-\alpha)|T| + \alpha|T^*|) + (1-\alpha)f(|T^*|) + \alpha f(|T|)] \hat{k}_\lambda, \hat{k}_\lambda \right\rangle \quad (\text{by (23)}) \\ &\leq \left\langle \left(\frac{f(|T|) + f(|T^*|)}{2}\right) \hat{k}_\lambda, \hat{k}_\lambda \right\rangle \quad (\text{by (24)}). \end{aligned}$$

\square

Because $f(x) = x^r$ ($r \geq 1$) is increasing convex that we have the next corollary.

Corollary 3.3. Let $T \in \mathcal{L}(\mathcal{H}(\Omega))$. Then

$$\begin{aligned} \mathbf{ber}^r(T) &\leq \mathbf{ber}\left(\int_0^1 (t|T| + (1-t)|T^*|)^r dt\right) \\ &\leq \mathbf{ber}\left(\frac{((1-\alpha)|T| + \alpha|T^*|)^r + (1-\alpha)|T^*|^r + \alpha|T|^r}{2}\right) \\ &\leq \mathbf{ber}\left(\frac{|T|^r + |T^*|^r}{2}\right), \end{aligned}$$

in which $r \geq 1$ and $\alpha \in [0, 1]$.

With a similar argument in the proof of Theorem 3.2, we reach the following result.

Proposition 3.4. *Let $f : J \subseteq \mathcal{R}^+ \rightarrow \mathcal{R}$ be an increasing convex function and $S, T \in \mathcal{L}(\mathcal{H}(\Omega))$. Then*

$$\begin{aligned} f(\mathbf{ber}(S^*T)) &\leq \mathbf{ber}\left(\int_0^1 f(t|T|^2 + (1-t)|S^*|^2)dt\right) \\ &\leq \mathbf{ber}\left(\frac{f((1-\alpha)|T|^2 + \alpha|S^*|^2) + (1-\alpha)f(|S^*|) + \alpha f(|T|)}{2}\right) \\ &\leq \mathbf{ber}\left(\frac{f(|T|^2) + f(|S^*|^2)}{2}\right), \end{aligned}$$

where $\alpha \in [0, 1]$.

References

- [1] S. Abramovich, G. Jameson, G. Sinnamon, *Refining Jensen's inequality*, Bull. Math. Soc. Sci. Math. Roumanie **47** (2004), 3–14.
- [2] M. Bakherad, *Some Berezin number inequalities for operator matrices*, Czechoslovak Math. J. **68** (143) (2018), 997–1009.
- [3] M. Bakherad, M. T. Garayev, *Berezin number inequalities for operators*, Concrete Operators **6** (2019), 33–43.
- [4] M. Bakherad, U. Yamanci, *New estimations for the Berezin number inequality*, J. Inequal. Appl. **40** (2020).
- [5] M. Bakherad, R. Lashkaripour, M. Hajmohamadi, U. Yamanci, *Complete refinements of the Berezin number inequalities*, J. Math. Inequal. **13**(4) (2019), 1117–1128.
- [6] S. Banić, J. Pečarić, S. Varošanec, *Superquadratic functions and refinements of some classical inequalities*, J. Korean Math. Soc. **45** (2) (2008), 513–525.
- [7] F. A. Berezin, *Covariant and contravariant symbols of operators*, Math. USSR, Izv. **6** (1972) (1973), 1117–1151. (In English. Russian original.); translation from Russian Izv. Akad. Nauk SSSR, Ser. Mat. **36** (1972), 1134–1167.
- [8] F. A. Berezin, *Quantization*, Math. USSR-Izv. **8** (1974), 1109–1163.
- [9] S. S. Dragomir, *Some Hermite-Hadamard type inequalities for operator convex functions and positive maps*, Special Matrices **7**(1) (2019), 38–51.
- [10] M. T. Garayev and M.W. Alomari, *Inequalities for the Berezin number of operators and related questions*, Complex Anal. Operator Th. (2021), in press.
- [11] M. T. Garayev, M. Gürdal and S. Saltan, *Hardy type inequality for reproducing kernel Hilbert space operators and related problems*, Positivity **21**(4) (2017), 1615–1623.
- [12] M. T. Garayev, M. Gürdal, A. Okudan, *Hardy-Hilbert's inequality and a power inequality for Berezin numbers for operators*, Math. Inequal. Appl. **19**(3) (2016), 883–891.
- [13] M. T. Garayev, U. Yamanci, *Cebycev's type inequalities and power inequalities for the Berezin number of operators*, Filomat **33**(8) (2019), 2307–2316.
- [14] M. Hajmohamadi, R. Lashkaripour, M. Bakherad, *Improvements of Berezin number inequalities*, Linear Multilinear Algebra **68**(6) (2020), 1218–1229.
- [15] P. R. Halmos, *A Hilbert space problem book*, Second edition. Graduate Texts in Mathematics, 19. Encyclopedia of Mathematics and its Applications, 17, Springer-Verlag, New York-Berlin, 1982.
- [16] M. T. Karaev, *Berezin symbol and invertibility of operators on the functional Hilbert spaces*, J. Funct. Anal. **238** (2006), 181–192.
- [17] M. T. Karaev, *Berezin symbol and invertibility of operators on the functional Hilbert spaces*, J. Funct. Anal. **238**(2006), 181–192.
- [18] M. T. Karaev, *Reproducing kernels and Berezin symbols techniques in various questions of operator theory*, Complex Anal. Oper. Theory **7** (2013), 983–1018.
- [19] F. Kittaneh, *Notes on some inequalities for Hilbert space operators*, Publ. Res. Inst. Math. Sci. **24** (1988), 283–293.
- [20] F. Kittaneh, Y. Manasrah, *Improved Young and Heinz inequalities for matrices*, J. Math. Anal. Appl. **361** (2010), 262–269.
- [21] M. Kian, *Operator Jensen inequality for superquadratic functions*, Linear Algebra Appl. **456** (2014), 82–87.
- [22] M. Kian, S. S. Dragomir, *Inequalities involving superquadratic functions and operators*, Mediterr. J. Math. **11**(4) (2014), 1205–1214.
- [23] M. Krnić, N. Lovrinčević, J. Pečarić, J. Perić, *Superadditivity and monotonicity of the Jensen-type functionals: new methods for improving the Jensen-type inequalities in real and in operator cases*, Element, Zagreb, 2016.
- [24] M. Sababheh, H. R. Moradi, *More accurate numerical radius inequalities (I)*, Linear Multilinear Algebra, (2019) <https://doi.org/10.1080/03081087.2019.1651815>
- [25] U. Yamanci, M. Gürdal, M. T. Garayev, *Berezin number inequality for convex function in reproducing kernel Hilbert space*, Filomat **31**(18) (2017), 5711–5717.
- [26] U. Yamanci, M. Gürdal, *On numerical radius and Berezin number inequalities for reproducing kernel Hilbert space*, New York J. Math. **23** (2017), 1531–1537.
- [27] U. Yamanci, M. T. Garayev, C. Celik, *Hardy Hilbert type inequality in reproducing kernel Hilbert space: its applications and related results*, Linear Multilinear Algebra **67**(4) (2019), 830–842.